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ENGLISH VERSION

Instructions : (1) All questions are compulsory.
(2) Marks are indicated on right side.

1 (a) What is correlation ? Explain rank correlation 8
coefficient method of Spearman.
(b) From the following data find Karl Pearson's 12

correlation coefficient and its probable error.

:10.21]0.2010.24 10.2310.25(0.26 10.28 | 0.30
y:[120 | 150 | 160 [ 190 [ 170 | 180 | 200 | 210

OR
1 (a) Explain probable error and standard error of 8
correlation coefficient.
(b) From the following data find coefficient of correlation : 12

> 600—-700|700-800 | 800-900 | 900-1000
y
25 16 6 - -
35 4 10 4 4
45 — 4 18 12
55 — - 10 12
2 (a) Define the regression coefficients. State its properties. 8

() 12x-15y+99=0 and 60x—-27y—-321=0 are the 12

two regression lines. 0, =6 then find X,y,r and Oy.

OR
2 (a) Explain the importance of regression. How the 8
correlation can be determined by regression lines ?
(b) From the following data find two regression lines. 12

n=45=13, Y (y-5)= Y x Y (x+2)* = 480,
G§,=5, nyzZyz—SZy
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3 (a)
(b)
3 (a)
(b)
4 (a)
(b)
4 (a)
(b)

Define Statistical probability. State and prove the
addition rule of probability.
If A, B and C are three mutually exclusive and

exhaustive events and SP(A) = 6P(B) = 4P(C) then
obtain the values of P(AUB) and P(A'ﬁ B') .

OR

Explain :

(1) Random experiment

(2) Sample space

(3) Independent events

(4) Equally likely events.

In bag there are 5 white and some black balls.

3
If the prob. of getting 2 black balls is % , then find

the number of black balls in a bag.

Define mathematical expectation and state its properties.
For a binomial distribution mean = 2 and

variance = — then find the prob. of getting at least

5
three successes.
OR
State the properties and uses of binomial distribution.
A r.v. x has the following prob. distribution.

x: (of1]213]4]5
PAxX)-1 P 5110 P 20 | 20

(1) Find p (2) calculate mean and variance.
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